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16) What number should replace the question mark?
7,8,9,10, 12, 14, 16, 20, 21, 28, ? QQ
sl Riee ot wlor 211 iz giirenita osd ?

7,8,9, 10, 12, 14, 16, 20, 21, 28, ?
[Question ID = 1971][Question Description = S2_gSNz_PG_GP10_Q21]

2
S

[Option ID = 7881]
2. 36

[Option ID = 7882] 0
3. 32

[Option ID = 7883] 43
4. 29
[Option ID = 7884] Q
L

17) X is as much younger to Y as he is older to 2Z{ Ithe sum of the ages of Y and Z is 36 years. What is the age of X?

Y 31 X 3eton 8l wie1 8 Braenas Z A ast & ale Y 1 1 Aver 36 ad &, ot X &bl ameg aen & ?

[Question ID = 1972][Question Des@ S2_qSNz_PG_GP10_Q22]

1. 16 Years/16 ad

[Option ID = 7885] ®
2. 15 Years/15 aod 0
[Option ID = 7886]
3. 18 Years/18 ad *
[Option ID = 7386
4. 20 Years/20

[Uptim% 1



N\

18) Two persons are walking in the same direction at rates 3 km/hr and 6 km/hr. A train comes running from behind and passes t and 10 seconds
respectively. The speed of the train is

<1 cafip wes & Rom 3 3 Rpall. / w2 afiz 6 Reail. / e &l aifa A aa B & wmmm#mammmﬁ9mmmag® Foendl & aifa 2 -

1. 33 km/hr/33 Roail / vier
[Option ID = 7889]

2. 22 km/hr/22 fsail/ me
[Option ID = 7890]
3. 44 km/hr/44 foah / dex 00

[Question ID = 1973][Question Description = 52_gSNz_PG_GP10_Q23] Qa

[Option ID = 7891]
4. 35 km/hr/35 fsafl / ger

[Option ID = 7892]

19) Given below are two statements Qo
Statement |: Between 4 and 5, the minute hand and hour hand of a clock% 0 minutes past 4.

Statement |lI: Between 4 and 5, the minute hand and hour hand of a clock are at a right angle at 40 minutes past 4.

In light of the above statements, choose the correct answer from the optionS¥given below

ofi<l €1 @erel Ru s 2 © )¢
et - | 1 4 3z 5 @ dia, v adl &t Bowe iz g arcll gz 4 O\HZEIWIH&@?TIE

et - | 4 3z 5 & 4 v gl 61 Brate iz geard g 4 Uz HAEW] U3 gl §
mm$mﬂ,mMmm3ﬁmm§mv:

[Question ID = 1974][Question Descriptio z_PG_GP10_Q24]
1. Both Statement | and Statement Il are tgge /wer ot e &

[Option ID = 7893] =
2. Both Statement | and Statement Il 1 afte || cvalt arieer &

[Option ID = 7894]
3. Statement | is true but Sgatggmeng |1 is false/mem | v & |, fvegy oo 1) e 8
[Option ID = 7895]
ne

4, Statement | is false Is true/mer | s &, Rey wem | w8

[Option ID =

)



20) Which of the following statements are TRUE?
A, If A’s salary is 20% more than B, then B's salary is 20% less than A.

B. By selling 28 pens, a man gains the selling price of 4 pens. The gain is 15%.

C. The average of N consecutive natural numbers starting from 1 is 'E.H; g

Choose the correct answer from the options given below

frafafEad suat w faar Fifeu .

AT AT AT BT 20% WG 8 A FITTAT 20% FH B \
B. 28 U7 99 &Y Us adfod 4 U1 @1 fase! aiwa & avar o sifofa swar 81 and 15% 81 QQ
c.1%mﬂumummn@mﬁmaﬁwm;”al Q

A1 fag o et & @ wé I @1 9ga P \Q(b

[Question ID = 1975][Question Description = 52_qSNz_PG_GP10_Q25]
1. Aand C only/ et A otz C

[Option ID = 7897) Q
2. Band C only/aae B itz € 0
[Option 1D = 7898]

3. Aand B only/dver A ot B 0
~ [Option ID = 7899] 0
| 4. Conly/daaC A
[Option ID = 7900]

21) Match List | with List I

List | Listil 3\

Proposition in Square of Opposition Resu asition
A If A" is True : 'O is True
B. If 'E' is True _ false; 'A’ is undetermined
C. If 'I' is True . 'E" and 'I' is undetermined
D. If 'O is True V. 'E’ is false; 'I' is True
Choose the co  Agswer from the options given below:
ot et ©

et -l

(P el avaa)

1 wareer &; "0 wea &

I. 'E' wrzwrar B; A" e &

I, °E’ affz 'I' sfdyerifin &
D, af A" wva & V. 'E' waca B; " e B

ofter B omr Rrasedt 3@ 1 st o gfém o

[Question ID = 1976][Question Description = 52_qSNz_PG_GP10_Q26]
1. A-|,B-ll,C-Nl,D-IV

[Option ID = 7901]
2. A, B, C-I,D-IV

[Option 1D = 7902]
3. A-I,B-I,C-1,D-IV

[Option ID = 7903]
| 4. A-V,B4,C,D-M
[Option 1D = 7904]



1)  Read the following paragraph carefully and answer the following five questions:

In a ninth standard class of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and SD of the class
for the achievement scores in Physics were 50 and 20, respectively whereas, the mean and SD
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

Onme student Rekha scored 30 marks in Physies and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 225 marks in Chemistry. Another student Sameer
scored 46 marks in Physics and 19 marks in Chemistry. The summary of these scores is given
below -

Subject Mean of the class | SD of the class Rekha Reshma Sameer
Physics 50 20 30 56 46
Chemistry 20 5 26 225 19

T e T T

50 fernfelal arsht e s O srsavem 3 e Wifes s v we fEem g
e 1 o fom | it s ¥ srer-ues i F e F e T
FatF @ e | IE-E 7 59 S aer il o e wa 20 3
3 wifes famm O 30 395 ok res e 4 26 o= wm B |
% 2k e fawE 4 22,5 o 9w e | ol awmw o el 3
famm § 10 3 i foan | s s s e o 2 -

forma 41 F U | S8 F oEE GEes \@ T i
e fEem 50 20 30 56 46
e faEm 20 22 5 19

[Question ID = 96][Question
1.

5&\" , 26

Who had the best mean score on both
s e e e e s AL\

tion = 196_09_Education_0CT22_Q96]
Rekha

T

[Option 1D - 331&

[Option |§= 382]

3. Sameer

wfT

[Option ID = 383]

4. Reshma and Sameer both

T aft win o

[Option ID = 384]

\



2) Read the following paragraph carefully and answer the following five questions:

In a ninth standard class of 50 students, the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and SD of the class
for the achievement scores in Physies were 50 and 20, respectively whereas, the mean and SD
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry Another student
Reshma scored 56 marks in Physics and 22 5 marks in Chemistry. Another student Sameer

scored 46 marks in Physics and 19 marks in Chemistry. The summary of these scores is given
below :

Subject Mean of the class | SD of the class Rekha Reshma

Physics B0 20 30 56
Chemistry 20 5 28 225
Freafafs e = s 12 o wE A9 e e s e E
snf&mﬁ‘mmﬁﬂﬁﬁmﬁmﬂm wifes fams o = e g aﬁlsqaﬁtma:
e 1 v fog | s e d s R e s e @ - 50 3 20 9,
mmiﬁmﬂﬂmﬁ - #3591 % wrer ok o faeem |t@mﬁuﬂf
ﬁ%mﬁaommmmnzﬁmmﬁqlm ﬁﬁﬁﬂn‘rﬁzﬁﬁnnse
mﬁm%ﬁﬁzzsmmﬁq:mmm e 4 a6 3% o wEs
hﬂﬂlemmhlmmmﬁaﬁmwt@
foma w1 51 9T mwmﬁam = T adffe
sitfiras e 50 ‘me,\ 30 56 16
T 20 PYEN 26 225 19
>
Whﬂhadthebestmnneitherte&
ot ot s 22§ walfes s
[Questlon ID = 97][Quest escription = 197_09_Education_0CT22_Q97]
!~ Rekha

[Dptmn ID A
2.
[Dpimn ID = 386]

3. Sameer
FifT

[Option ID = 387]
4. Reshma and Sameer both

o it i g

[Option ID = 388]



3) Read the following paragraph carefully and answer the following five questions:

In a ninth standard class of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics were 50 and 20, respectively whereas, the mean and 5D
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physies and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 22.5 marks in Chemistry. Another student Sameer
scored 46 marks in Physies and 19 marks in Chemistry. The summary of these scores is given

below -
Subject Mean of the class | 5D of the class Rekha Reshma Sameer
Physics B0 20 30 o6
Chemistry 20 5 26 225

o

Fifefias e #1 w2 3t v A9 o o e @ R

-

so Ferffal ot < S § areres 3 e WiE Pem @ A e § AR F
T 7 o fom | difees fem O swefl-mwrs ¥ w A § o @ s e e 20 ®,
Fafe @ o § SYwiE-TE A F97 & Aver o A e s 20 ot s gy tar s fed
3 i famm 9 30 9% afh wmes e g 26 5% 9 fu | T s 9= fama © 56
% o wres B 0 22,5 % 9w B | el awe 3= e 3 s 46 3% v ==
form F 19 3w oA | s w1 wow e e o @ -

o Y T A | w4 AEE faEes e i
Wi e 50 20 56 46
T e 20 26 225 19

Who had the poorest score on either test?

fareft ¥t w32 O wad W OwrE FEE 4 7

PR
.\0

[Question ID = 98][Question Dexl'tlj% 198_09_Education_0CT22_Q98]

|- ) Q)&)\}

[Option ID = 389]

2. Reshma 0&

B
[Optio ]

3. Sam

%ptinn ID = 391]

4. Reshma and Sameer both
T ot wlfR o

[Option ID = 392]



4) Read the following paragraph carefully and answer the following five questions:

In a ninth standard class of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry. respectively. The mean and SD of the class
for the achievement scores in Physics were 50 and 20, respectively whereas. the mean and SD
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physies and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 22 5 marks in Chemistry. Another student Sameer
scored 46 marks in Physics and 19 marks in Chemistry. The summary of these seores is given
below :

Subject Mean of the class | SD of the class Rekha Reshma | Sameer

Physics b0 20 30 56 46
Chemistry 20 5 26 225 19
freafafias meam ey w2 ait w9 fog o vl = s R %
50 ferenfefat ot e S @ s 3 v Wi fams W@ wEe e A Qﬂ&ﬁ%
eareA 7 e forg | ifes faae o Syefe-ws ¥ w9 % o @ O * 50 afkt 20 @,
Fafs = fage § SyeR-Te 73 %41 % wrer 3 O e wa | Ty A o

3 wifts fwm o 30 3% afh e e A 26 3% wm U | v s 3 ifes famm 7 56
% 3t wEE B A 22,5 ow wm B | 99 Twe 9= o ﬂ%ﬁﬁﬁ'dﬁmﬂ?m
faema 4 10 3/ W T |y % g A e o @ -

g =4+ 4% mmmﬁaa:@ Tomr Tt
dtfrs fem 50 30 56 16
@ 20 26 225 19

Who had the most consistent scores on
T T o T | g Fd7
[Question ID = 99][Que5ti0@ution = 199_09_Education_0CT22_Q99]
1. Rekha

- g\Q)

[Option ID = 393]

2. Reshma A

[Option ID = 395]
4. Reshma and Sameer both

T it wER g

[Option ID = 396]



5) Read the following paragraph carefully and answer the following five questions:

In a ninth standard elass of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and SD of the class
for the achievement scores in Physics were 50 and 20, respectively whereas. the mean and SD
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 22 5 marks in Chemistry. Another student Sameer
scored 46 marks in Physics and 19 marks in Chemistry. The summary of these seores is given
below :

Subject Mean of the class | 8D of the class Rekha Reshma Samee

Physics B0 20 30 b6 :
Chemistry 20 5 26 225 sg
=Tt T F sAEEE 92 39w 9 T ve v W I g (\)Q

so fernfefi =ret St 591 § aregrem 3w Wifew fAwE @ wEE R A i e &
qrareA ¥ e o | Wi foem o srefe-uwe ¥ w9 F o ¥ 50 af 20 4,
mmmﬁm-mawtmmmm@si | e e faemd

A vifes B A 30 o= s w e § 26 3w feu T oA i 3 Wi fams © s6
st aft e Bere 2205 afs e fen | o T o= N Wi o o 46 ofw aftt =
form= & 190 3/ wm fan | ST @ AT A o - !

foree Y F U | S 7 OEHE b T wiftr
= e 50 20 30 56 46
=TT 20 2% 225 19
Who had the least consistent mm&& tests?
=HT 71 | 598 91 fer e ?

[Question ID = 100][Que on Description = 200_09_Education_0CT22_Q100]

|fm

[{)ptic—n iD=

[Option ID = 398]
3. Sameer

wfe

[Option ID = 399]
4. Reshma and Sameer both

Ty st wd

[Option ID = 400]



1)

The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There i1s a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5:
City-wise Distribution of Teachers
City + | Percentage of (%) Number of Male
Panehers Teachers
A 14% 200 Q\
B 16% 400 Q
C 28% 600 %Q
D 15% 100 \Q
E 21% 500 0
F 06% 100 \QQ
Frfefas eferm 0 22 fafu= 90 (A — F) 4 e & ofawm e ag 1 [ = =i fam

e 21 i e 3R | g 4600 s F | arfers | fau sl & :m%?‘ P 1 — 5 % 37 difer

forers =1 TEr-an

=

haﬁmuﬁm[%@haﬁﬁm
N\ 200

500

100

teache together?

What is th @&r of male teachers in City-F, female teachers in City-C and female

(2) 1120
(4) 1020

w@-F § o fesl, wei-C H wfeen Bl a9 s@i-B 4 sfeen fasl & @@ +1 oF@ am

(3) 80
et

(1) 1080
(3) 1180

b 0 ;mq@'ll
2. 2 [Option ID = 4002]
3. 3 [Option ID = 4003]

(2)
(4)

1120
1020

[Questlon ID = 1001][Questlon Description = 101_00_General_19_0CT22_Q01]



2)

The following table presents the details about the percentage (%) distribution of teachers

and the number of male teachers in six different cities (A—F). There is a total of

4500 teachers in all the six cities together. Based on the data in the table, answer the

questions 1-5:

frefetfiaa mfcrn § 28 fafu= 90 (A — F) d e #1 afasma faa qaf

21wl @2 91T | el 4500 Free 2 anfers o faw o sagi

City-wise Distribution of Teachers

forersl =1 TEr—anw

City 4 | Percentage of (%) | Number of Male
Tesichers Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100 ; $ }

of teac City-A?
(1) 75
(3) 95

e 4 ﬁlﬂiﬁiﬂﬂfﬂvﬁ‘(@ feral =i wen
A 14?5\\" 200
T m
c 6 8% 600

%v 15% 100
2‘\ 21% 500
F 06% 100

wren-D 1 afeen fa 1 den s -A d Bl 1 3@ wEn @ e fEan fiem 270

1 75
(3 95

(2) 81
@ 9
(2) 81
@ @

[Question ID = 1002][Question Description = 102_00_General_19_0CT22_Q02]

1. 1 [Option ID = 4005]
2. 2 [Option ID = 4006]

\
&
>
™

foral o @en @1 =4 fan

11— b % 37 difsru

The m;&%mﬂe teachers in City-D is approximately what percent of the total number



4)
The following table presents the details about the percentage (%) distribution of teachers

and the number of male teachers in six different cities (A—F). There iz a total of
4500 teachers in all the six cities together. Based on the data in the table, answer the

questions 1-5:

City-wise Distmbution of Teachers

City + | Percentageof (%) | Number of Male
Teachers Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100 Q
E 21% 500 %Q
F 06% 100 \0
O

Tt =1 T=—an faam

vier 4 | vl @ wfaem (%) | g
A 14%
B 16% 400
<
C 28% 600
X\

D 15NV 100

E 1% 500

F 666% 100
What is the differen een the total number of teachers in City-E and the number of
female teachers in

(1) 625 @ 15
3 6756 @ 7%

1 i et e aen wR-F 4 wfzen fare A den s an 27

(3) 675 @ 725




5)
The following table presents the details about the percentage (%) distribution of teachers

and the number of male teachers in six different cities (A—F). There is a total of
4500 teachers in all the six cities together. Based on the data in the table. answer the
questions 1-5:

City-wise Distribution of Teachers

City + | Percentageof (%) | Number of Male
Teachers Teachers

14% 200
16% 400

28% 600 @\
15% 100 QQ

"4

Feprferfian mfer o we fafa= sed (A — F) 4 e & afaera e e gen Be 8 den 20 % f
e 21wl i 9 4 et 4600 Fae ) arfera 4 fav sl & v w1550 1

Tl w1 sm-am A 50

HE Q| ol @

06% 100

s & | ol @ wfeem (%) | e Toe
A 14%
B 16% 400
C 28% 600
D 1580 100
E 500
F 100

4
What is the ratio of the of male teachers in City-C to the number of female teachers

in City-B?

@ 11:15 $\® @ 15:11
3 15:30

o -C H ' forarl 1 e aun s - B H wien e ) den a1 s e 27

(1) 11:15 @ 1:1
1B+ 8 : 4 8:15

[Question ID = 1005][Question Description = 105_00_General_19_0CT22_Q05]
1. 1 [Option ID = 4017]
Optii 018




Sl. No.1
QBID:352361

Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

Institute-wise Percentage (%) Distribution of Candidates

Candidates— Enrolled (%) Passed (%)
Institute | {out of 17100) (out of 11400)
A 16% 12%
B 22% 18%
c 15% 17%
D 10% 13% (b
E 17% 16% \Q
F 8% 9% 0
G 12% 15%
R & o g ot & our T WAl I A %)
fafafea arft & 99 fafts == (a-6) § digest Qmﬂmﬂ%mﬁmw
rafifat &1 ufawa favor iR odien & Sl gy faarur i man 81 $a

Fifdd srafefal @t WEa 17,100 U1 3R Gan 7 Skl g @A @i w®=am 11,400

3pafefal @1 deH-aR ufd fao Ao

Spgelf — | Amifaed (%) Il (%)

WM 1 (17,100 # B)|(11,400 # W) OQ
16% 12% \

A
B 22% 18%
C 15% 1

D 10% 1

E 17% 16%
F 9%

8
G %2% 15%

N\
What age of candidates passed the exam from Institute F, out of the total number
of cagdidates enrolled in F?

&
c;\\’b

(1) 509

(2) 62.5%

@ 0%
GyH F 3 o Tmifea snaffal § 3 feaa ufawa snadf oiten & Siivfgu 2

(1) 50%
(2) 62.5%




Based on the data in the table, answer the five questions that follow
The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.
Institute-wise Percentage (%) Distribution of Candidates
Candidates— Enrolled (%6) Passed (%)
Institute 1 (out of 17100) (out of 11400)
A 16% 12%
B 22% 18%
& 15% 17%
D 10% 13%
E 17% 16%
E 8% 9%
G 12% 15%
WM & 3T Y siwet F smur T uat F Iww o)
Frofafes wroll # wra fafim el a-c) # Rgad. waw ol & e ¥ T
safifal @1 wfawrd faavor iR ofien 7 il gu snafifgt @1 wfawra k3
Tifeea spafifl @1 @@ 17,100 Ut SR wdian # Il g nafidl o1 § 4o Ui
Saffdl BT §RH-aR Ufawd faawo 0
negeff— | e (ge)| Il (99) &
W& 4 {17,100 & ) (11,400 7 F) 0
A 16% 12% 40
B 22% 18%
C 15% 17% Q
D 10% 13% 4 o
E 17% 16% RN
F 8% 9 N
G 12% '
Which Institute h t%est percentage of candidates who passed the exam in
comparison to tné tes enrolled?
we ¢ @
F

fopg dwm | o Amifha snafifal &t qo & wdien # Sl gu srafifal &1 ufawa
gailes 8 2

(1) C

3 G

4) ¢

4[Option m:zzsua}




Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

e (%) Distribution of Candid
Candidates— Enrolled (%) Passed (%)
Institute § (out of 17100) {out of 11400)

A 16% 12%

e 22% 18%

C 15% 17%

D 10% 13%

: 17% 16%

F 8% 9%

G 12% 15%
ARV & 3T U siwSt & STUR W uAl & I Jifvre)
fuafafaa arft & o9 fRftm dE (a-G) § fiuad. vaw vder & T
it &1 ufawa fawor iR wdan # Sl gu snafifal @1 wfawa T B Fa
Jmifara svafifal @1 ge 17,100 9 R olan # 3l gu spafifal off|
pafefal &1 deyE-grR ufawe e

et — | AifEHd (%) Il (%) &0

YR 1 (17,100 F F)(11,400 H )

16% 12% ~¥0
22% 18%

A

B

o 15% 17% Q
D 10% 13% 0

E 17% 16% \

F 8% 9

G 12%

The number of ¢ nd@ o passed the exam from E and B together exceeds the
number of candi olled from F and D together by:

<

H&H F AR D, THI H, Ba M Amifebd safdal @1 gor1 H ¥H £ 3R 8, THI A o
forenae wien & Il gU STl B 9 feat AftE 8 2

(1) 456

(2) 558

(4) 514

1[Option ID=22609]
0




Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

Institute-wise Percentage (%) Distribution of Candidates
Candidates— Enrolled (%) Passed (%)
Institute | (out of 17100) (out of 11400)

A 16% 12%

B 22% 18%

C 15% 17%

D 10% 13%

E 17% 16% Q

F 8% 9% Q

G 12% 15% (b
Fruft # 3y e siiwet & SmuR wW ust F I S \%
ﬁmafaamuﬂﬂmﬁﬁmmm.e;ﬂmmamuﬂmﬁmm g
snaffal &1 ufawa faaRor iR odten # Sl gu snaffal @ ufawa a8 o

THifara srxafifal Bt w=m 17,100 ot 3R wdian 7 Il gu snafigl 1 § $00 |

srafifal &1 geuH-ar ufasd Gam \‘}0
nayeff — | mifasa (56)| Ihof (95) &

TR 1 (17,100 7 W)(11.400 & ) 0
16% 12% , s 0
22% 18%

15% 17%

10% 13% o

L 4
17% 16%, N

8% A
G 12% | J%

What is the percenta &)ﬂdidates who have passed the exam from C and D together
in comparison &t tofdl number of candidates enrolled in the same two Institutes?

(1) 63% ®

T MDA | >

YWM ¢ 3R b, GHl & T AR THifed Y BT @1 ga- §, 39 oiHl SHT 3 3a
e often # il gu enaffal o wfawa & g 2

(1) 68%

(3) 74%
(4) 65%

4[Option ID=22616]

Sl No.5
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Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

Institute-wise Percentage (%) Distribution of Candidates

Candidates— Enrolled (%) Passed (%)
Institute 1 {out of 17100) (out of 11400)
A 16% 12%
B 22% 18%
C 15% 17%
D 10% 13%
E 17% 16%
F 8% 9%
G 12% 15% ()Q

AR & g 7 sl ¥ omuR W waY F I g

fFafafea aroft & 9@ At 4=t a-6) & dte s wan amifaea feg Mg
paffal @1 yfawd faawor ok odian # i gu enafifal o e m 31 g
TFmified erafdfal @t @31 17,100 4t 3R gfian 300 gU H=A1 11,400 1
3paffal & deH-aR wawd faawo 0
apaf— | AHifea (%) Il (%) !0
TR ¢ |(17,100 F W)(11,400 7 9)

A 16% 2% Q

B 22% 18% \o

C 15%

D 10%

E 17%

F 8%

6 | 1

What is t&yatio of candidates who passed from Institute B to the candidates enrolled in

the sa tute?

(4) 9:17
Yo B #, 391 Sy H Amifea spafifal @1 gomn 7 Sl gu snaffal &1 srua 7 g ¢

1) 9.11

(2) 14:17

(4) 9:17




1) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400.

City-Wise Distribution of Population

ICity|(%) Distribution of Population |(%) Adult
23.4% 77 %
21.6% 68%

8.4% 73% \
18.9% 75% @
17.5% 69% QQ

10.2% 72% (b
Adult population of City C is (\)Q

mmo[h[®E

. 6826 Q
A
Frafafaa arfersr § g2 agil A-F 7 Fo saaer AT (%) #i<

IH 2 STAHEAT ®T AA9T (%) ZATATITAT ¢ | A gL B Fel TAAEAT 257400
gmﬁmﬁmﬁimﬂmﬁﬁﬁﬂﬁ%m:

L 4

TE-aR SHHEAT faar (5\,\
[TEY (ST faavul (%) |(%6) 90%® 0

A [23.4% 77 % 0

B [21.6% 68%

C |84% 7%

D [189% ,

E [17.5% 69%

F [10.2% 72%

3.66266
4.69268

3. 3 [Option ID = 10895]
4. 4 [Option ID = 10896]



| 2) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population
ICity|(%) Distribution of Population (%) Adult

23.4% 77 %
21.6% 68%

8.4% 73% \
18.9% 75% @
17.5% 69% Q
10.2% 72% (bo

Population of City A as a percentage of population of City D is, approximately: ()Q

1.118% @
2.124%

3.125% OQ
4.127% &

Trarferta arfersn 8 g agil A-F H1 Fo STAEer &?(%) £ 13
FAH EF HAGEAT H AA0T (%) TATATTATZ | A 9182 SHHEAT 257400
almﬁm%mﬂwwﬁﬂmw%w:

WET-aR oS faavT ‘\0

>
BET [SEE [AaR (%) (%) 305 0

Mo || o =

A 234% 77 % 9 0
B [21.6% 68%

C [B4% 7

D [18.9%

E [17.5% 4 |

F 10.2% 72%

Awﬁa@awﬁmaﬂaﬂmﬁmﬁm%?

'3. 3 [Option ID = 10899]
4. 4 [Option ID = 10900]



| 3) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400.

City-Wise Distribution of Populati

ICity|(%) Distribution of Population |(%) Adult
23.4% 77 %
21.6% B68%
8.4% 73%

18.9% 75% @\
17.5%. 69% Q
10.2% 72% Q
Neon-adult population of City F is \Q

M oln| %] =

1.33448
2.32040 e!
3.30102 OQ

FEUEEIE: S Wﬂmﬁﬁmﬂﬁ@

TeY-aR SdE fGau \()
>

WTER ST faR (%) (%) 0% 0
A 234% 77 %

B 21.6% 68%

= 8.4% %

D |[18.9%

E 17.5% %

F 102% 72%

FW% S B 8 7

1,33448
2.32040
3,30102

[Question ID = 10226][Question Description = 103_0_GP20_SEP22_S2_Q03]
1. 1 [Option ID = 10901]

2. 2 [Option ID = 10902]
.. ntion D = (90




4) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400.

City-Wise Distribution of Populati
City (%) Distribution of Population |(%) Adult

4 123.4% 77 %

B [21.6% 68%

C |84% 73%

D |18.9% 75%

E 17.5% 59% ®\
F02% 72% Q

Adult population of City B and City C together as a percentage of the population of all & ?es together
is, approximately

1.18% Q) :;
3.25% Q

4.27% &0

FrafertaT arfern § g agii A-F &1 Fo Traer %ﬁ{%} T
I 2HEE FAHEAT R AAT ( %) TATATTATE | A & Fel TATHEAT 257400
g|mﬁmﬁmﬁmnﬂaﬁmﬂ?wﬁ%§ﬁm:

&
B [SFEE fAaR (%) (%) T 0
23.4% 77 % %0

EI-aR SHEET faeR

21.6%
8.4%

18.9%
17.5%
10.2%

Mo 0.5

B‘«’!E'{&T% DI pa 30w SuE 9 58 T 31 Ho T &) G e ufaga & 2

1.18%

3.25%
4.27%

4. 4 [Option ID = 10908]



5) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400.

City-Wise Distribution of Population
ICity|(%) Distribution of Population (%) Adult
A |23.4% 77 %
B8 |121.6% 68%
C |84% 3% \
b [18o% 75 %)
E [17.5% 69% Q
F [10.2% 72% %Q
Population of City D is approximately more than the population of City E. ()Q

2.10% Q@

3.14% 0

4.16% &

Frafefae arfersr # 27 agil A-F FT Fet sIaeET 12 (%)

IAH A STHEAT T AT (%) TATATITAT S | A 92T TI'HHEQTZEHOO
gnmﬁwﬁmﬁswwmﬁamqﬁ%m.

ot e N
4

T [FEE faaR (%) |(%) I | 0

A [234% 77 %
B [216% 68 &
C |84 7
D [189%
E [175% 69%
F o [|102% 6 72%
D WER £ U8 P FHE Y T et e B 2
B
2.10%
3,14%
4. 16%

8][Question Description = 105_0_GP20_SEP22_52_Q05]

2. 2 [Option ID = 10910]
3. 3 [Option ID = 10911]
4. 4 [Option ID = 10912]



3)

The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There is a total of

4500 teachers in all the six cities together., Based on the data in the table, answer the

questions 1-5:

frerferfiaa afersn 8 e fafm= 90 (A — F) 5 e o0 afawra Faemo qen g s

City-wise Distribution of Teachers

City + | Percentageof (%) | Number of Male
Teachers Teachers
A 14% 200
B 16% 400
C 28% G600
D 15% 100
E 21% 500
F 06% 100

21 el we I H el 4500 Farrsk ) afersn oo i segl & smim @ 6 Aifaru)
foer=i =1 wEr-aw A

In which city is the

; \
(%Bﬁ‘Eéﬁiﬁ

vien 4 | el @0 wfem (%) | g @ G
A 14% Lzoo
B 16% 400
c 28%,'&\ 600
D 1Y 100
E 6 500
F 06% 100

imber of male teachers more than the number of female teachers?

v

(1) Bonly 0 )
3 dE 4

f e 3w i afzen e ) @en 8 sfaw e

D only
BothEand F

(2) #FEED

(4 E#pFaHE[H

[Question ID = 1003][Question Description = 103_00_General_19_0CT22_Q03]
1. 1 [Option ID = 4009]




